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anple 5 43. INTERNET In a recent year, 'th.ere were approximately 3.95 million Internet hosts.
Suppose there were 208 million Internet users. Determine the order of magnitude
for the Internet hosts and Internet users. Using the orders of magnitude, how
many Internet users were there compared to Internet hosts?

44, PROBABILITY The probability of rolling a die and getting an even number is %
If you roll th82 die twice, the probability of getting an even number both times is
T\ fy ey
(3)(z)er ()
a. What does (—2—) represent?

b. Write an expression to represent the probabi
getting an even number every time. Write the expression as a power

lity of rolling a die d times and
of 2.

Simplify each expression. Assume that no denominator equals zero.
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57. (@S SENSE-MAKING The processing speed of an older desktop computer is about
10° instructions per second. A new computer can process about 10'Y instructions

per second. The newer computer is how many
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times as fast as the older one?




